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:
B. Sc. (Part I) EXAMINATION, 2017 :
Mﬂﬁ{EMA?CS t &_,
Paper First g
(Algebra and Trigonometry) E.
m’h H .50 -
Time : Three Howrs ] [ Maximum = E
e : WMWqﬁﬁﬂﬂmﬁﬁmaﬁﬁmﬂmnﬂ$ S
W B .
Answer any fwo parts of each question. All questions
carry equal marks.
FR—1
(UNIT—1)
. @ o vt @ s aw Prefate ifiw @ T 3
gt g o : §
3 3 4 E}
A=]2 -3 4 Z
0 -1 1 E
Use only elementary operations and find the inverse of f
matrix given below : E
3 3 4
A=[2 -3 «
sl P.T.0.
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i al
Reduce the following matrix A into its norm
and find the rank of matnx :
1 0 -3 -1
1 0 | 1
A=z 1 0 2
11 =2 0

0o 1 2

A=[2 -3 0

1 1 -l
Find the characteristic equation of the matrix A and
prove that the matrix satisfies Cayley-Hamilton

theorem and also find A" :

o 1 2
'A=]2 -3 0
' I 1 -l

FIR—2
(UNIT—2)
@) Pt whewl @ Aa AR grr e RN -
2X-y+3z=9 '
X+y+z=6

X=yp+z=
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mslwﬂ*“""’“"" espuations bry matrix method
r-yr z =V
e proe=h
x=ye+em]

(a) ot Al wfam Dapxl agerr =0 B ) A

gl @ dm @R F R w0, o R e

pl-dpg+8r=0| . .- i;

If the sum of any two roots is equal to third root of the z
equation x* 4+ px? 4 gx+r =0, then prove that ro
p)—-4pg+8r =0, E

@) Fefafea wiE= @ o R 3 9 Ofn <
X +6x2 -12x+32=0 =

Solve the equation by Cardon’s method : "3

x? +6x? —12x+32=0. =

FR—3
(UNIT—3)

3 @) I W s e o g € AR W W R,
xRy BRT 9Rifd 8 af x» = p*, W@ x,yel, ™
TR (& Joua @ § ? ’
If I is the set of non-zero integers and a relation R is §
defined by xRy if x¥ = y*, where x,yel. Is the ;pi
relation R an equivalence relation ? N

. =

@ wEl & sfdm @ el [@uda) faw &1 @[ S
. 14~

B e Rig Ao | e
State and prove Reversal law of inverses in groups. 2

Rig PIRA 5 Rt 2 R et &1 iR R
T T el e |

Prove that the intersection of any two normal
subgroups of a group is a normal subgroup.
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(usT—4)
e @xt B oo B * O

(srgviedfe) ot i
1 the two cyclic grou

e ropzet D

=)
ps of eoqueal orders are

Prosve tha
Fsomaorphin
(<) a.-n‘fr::ﬂ > e oA (R.+..)® sywEa (s JyaEn g
o ¢, aft afe da afk >
(i) :::S.bc'!s':ru—ﬁrs. va.be$S ﬂ
(ii) acS.beS=abes Ya,b fs ‘ E
Show that a subset S of the ring (R, +, .) is a subring g
g ]
il : 2
(i) aeS.beSma—bES. va,beS E
(ii) aecSbeS=abes, Ya,beS$S E
@) Rz RA 5 T &= 1@ it wa g 2
Prove that every field is an integral domain.
FIR—5
(UNIT—S5)
5 (@) IR B g wen @, o fig o
If n is any positive integer, then prove that : é
24 >
A+ +(Q - =22 ms% .
P
(@) & DI E
Solve : ?g
-1 a, _ T n?
@an~' 2x + tan Ex—-z :
(‘7] firg oIt - =
Prove that :
64 cos’ O = cos 70 + 7 cos 50 + 21cos 30 + 35¢os 6
A-2518 5,100
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